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'n mwn: distinctions between 711 DWRY YI¥N DWR and other (4) MNYR (M19N ,N91IN INAY ,MYPN ,MOTY)
a  all others: come after nron
b all others: must be 2 year-olds (rams) and must bcost 2 D’»%0 and be bought with n'%pw
i but these two: are yearlings (rams) and are not (necessarily) bought with nopw
s mwn: other areas of precedence
a  justas: all of these follow this hierarchy for performance, they follow it for eating
i additionally: n%w from yesterday are eaten before nnbw from today
ii  however: %W of yesterday vs. nwR) nron of today
1 »7: onHw of yesterday take precedence
2 ppom owWRI NRVN of today take precedence — as they are nwTp "W
't Mwn: preparation of eating nwTp VTP
a  puax may eat them in any style, roasted, boiled or cooked — per v. 2; nnwnY=greatness, like royal food
i spices:
1 »”r they may put in P9 spices or even nmn-spices
2 p”r they may not put in nmIn-spices as that may lead to nm n becoming %104 (as 9m1)
question posed: if 710 clashes with wTpn (e.g. n%1w »ar and nrvn oT) which takes precedence?
a  suggested proof: 10N precede pavin — although pavin are (presumably) holier (due to their naw-connection)
i rejection: just as naw »*9vIN have a “naw-holiness”, so too naw *1nn have naw nv T
b suggested proof: naw »avIn precede n™ »avIn (‘tho n™ is a TYIN-> has nwVITP)
i rejection: n™ defines the naw qun on that day as well
¢ suggested proof: N1 *avIn precede n™ 90N
i rejection: as above — 1™ also impacts on the n” qom
d  suggested proof: n”2’s second argument in favor of 0yn n272 following 1’0 N272 (R:N M273) — 1’0 N2 is PIN
i even though: the nvn n311 is holier
ii  rejection: 10 n371 also takes on the “flavor” of naw
e  suggested proof: ¢ '7’s ruling that if nnin ynt arrives, say nmn before qoin — ‘tho qon is holier (n”1 ,naw etc.)
i rejection: the nmin of naw also takes on the naw nvyTp
f  suggested proof: our mwn —wnR Yv WY take precedence over oY YW NRYVN > DN YW BNYY do not precede them
i even though: DnYW are VN (20T VNPN ,WTIPM PN )
ii  rejection (837): ©NYY aren’t inherently 971, they're just factually more common ("xn) —
1 challenge (*777 7772 82177 77): 1¥n is a “Tn”-consideration; per analysis of noa vs. n9n (in exemption from
nron) but not nYm, as that is "»m”
(a) defense: " there means nnxna (i.e. it has more nxn which it affects)
(b) or: relative to noa it is N
question posted: if the 1N 1R is slaughtered first, is the 971 then “rush-processed” or is the 710 & completed first?
a  proposal: perhaps a 1n3 stirs the 07 (a la 5"n11’) while the 1710 is slaughtered and offered
b suggested proof (87100 K32217 79): from our mwn — 0nd>W of yesterday precede today’s nwr1 nroN
i implication: if they were today’s n'n%w parallel to yesterday’s — i.e. slaughtered first — nwR1 nxvn take priority
ii  rejection: perhaps if both were slaughtered, we begin with nnbw; if the nkon wasn't yet slaughtered - we ask
¢ suggested proof: from n"a's response re: DN N3721 1’0 N213; even though (n2w) 90 WR “came in first”, we still do 97
i rejetion: this is parallel to both being slaughtered and coming before us (see above)
d  suggested proof: from 1301 '7’s ruling re: nnin before 9on (even though qoin “came in”
i rejection: once NMN Nt comes, it is parallel to both being vINW in front of us
e  Suggestion (made to 81227): ruling that if he slaughters 9”p before mxn — 5va (v. 1); if after, but before y”na v Tnn,
someone mixes the blood until 7nn is brought and then 8”p brought
i Rejection: that is a case where the Tnn was already slaughtered (support from language of ruling)
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VI 'n mwn: v"™’s terstimony about oil being distributed or burned

a

b

If: anyone saw oil being distributed, he could know for certain that it was either remainder of mmnin or of y11xn Yv 1>
And if: anyone saw oil being burned on nam, he could know for certain that it was remainder of (5°93) B33 nmn
i Reason: oil cannot be voluntarily donated to narn
ii  Dissent: v™ maintains that oil may be donated to nam
SN1w. according to v™, oil that is donated is ynpa (like a nman) — the ymip is burned and the rest is eaten (by nan3 »1)
i Source: v.3 - (extra word j121p alludes to gift of oil); parallel to nnin (pmip, rest eaten by 31)
ii 777 support from our mwn; W™’s observation that any jnw given out is from mnan > if donated, must be eaten
1 Challenge (»ax):xo0 indicates that oil is burned; per w"1’s observation that any burned oil is from 103 nnn
iii 73 oil that is donated is burned on the fire
1 observation: »aR is challenged from w9, v" from 89’0
2 Resolution: 1 is a cleaner read — the Xwn refers to the n»w, the R0 — to the pymp (of the naTi 1MW)
(a) But:»ar doesn’t have an explanation for the xw”»
(b) Defense (supported by »’& »p3m): Rw” is taught in order to introduce the 90
3 proposed proof: "1 (who allows donated wine)- wine goes to “cups” (for 11©1);0"s oil to the fire
(a) assumption: just as all of wine goes to cups, all of oil goes to fire (support for »ar)
(b) rejection: each is understood differently — all wine to cups, only some oil to fire (ymp)
4 suggestion(97): it is a dispute between nnan/717 — whether a 10w namis 1 »% (o'nan) or 3 NY (127)
(a) students: dispute is whether a w"1 is carried forward or limited by its source (nMInR2 'PR/NIM NN PT)
(i) 227 nym Arn N7 -just as nmn is donated, so nW is donated
1. Just as: nmn is brought with 1 1% of oil, so too — nrvy;
2. And: just as nman is ynp1 and 077w eaten by 0113- s0 too, 1NV is ynpi & 07PW eaten by 2”1 (X1 "1D)
(if) 227 NINRA PRI NPD PT —just as nman is donated, so W is donated
1. Just as: 0303 are 3 7Y, so too this donated oil must be 3 1nY;
2. And: just as nav1 all go to the cups, all the oil goes to the fire (»7ar2)
(b) 7an5 977, if they inferred jnw nam from nmn 127p, all would agree to nym nyrn N7 (21 1)
(1) Rather: »a1 infers it from nRn (v. 4)
(if) Block (»*17 7772 82777 *9): source using nmn 127p also invokes 3 P9
1. And: we know that the authority who subscribes to 3 1% is 221 = he infers from nmn j27p

VII 9Rmw: pouring naT 1 on 127vnn WR and the »a%-problem

a

b

C

Source: v. 5 -1 is also a “pleasing odor on the fire”
Challenge: but he may extinguish the fire
i Answerl: exstinguishing some of the flame isn’t considered "1
1 Challenge: if someone takes even one coal off the nam and extinguishes, violates n”> (n2an RY)
2 Defense: could be case where that is the last coal on the nam
ii ~ Answer2: 23 of a mxn (in our case, pouring wine on nam) is acceptable
1 Challenge: may not perform jwTn nmIn by extinguishing coal
(a) Answer: in that case, he could wait for it to turn to ash and take it out (no need to extinguish)
Challenge: ruling that 1, per ", goes to cups (and oil, per v™, to fire) — but not on flame, due to n2on 8>
i Answer: that follows nTn? '3 (1200 1RY 727); YRINY's ruling is per W™ (NN 11NN IWRY 127T)
1 Challenge: YRmw holds like N "3, per his ruling about extinguishing a metal/wood coal in public on naw
(a) Answer: in re: NANY X"RW NIRYNY, holds like NT 7 (stringent); re: 1ann WRWY 127, like ™ (AIMN)

VIII &0 A if 02501 became &nv, a fire is built on floor of N7ty and they are burnt there, per v. 6

a

b

Support: from rn™2
Support: 5R0w had his student assemble 10 people to publicize this ruling
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